2N S
Hu: SY FOUME HASH(SYHLHL/5Y - 52)
o9l AIRIEC BE2Y CERE
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
so 845, 153 788,888 56,265
STY FUMH BHASH(SYHY /5 - 52) 216, 160 179,760 36,400
NOIEO #X2Y 166, 160 129,760 36,400
FoIHZX A 89,760 89,760 0
202 OfHl 1,380 1,380 0
01 =0l 1,380 1,380 0
=0l 4 1,380 1,380 0
OF2X KA ¢ Xl 042
60,0002 +3 +22! +35] 1,080
OAZ HLEF DS H4
20,0002 12 *15] 300
301 LsBAB 88,380 88,380 0
05 ST -0% - UHHSEYZ 86,830 86,880 0
=0l 4 86,880 86,880 0
oJlesy 200, 0002 x26% * 122 62,400
o4 of 2 200,000 *26% *22 10,400
Oslo] BH4Y 20,0008 +26% +23| *128 12,480
OBz ESY| 25,0002 ¥32% *23| 1,600
09 BAAHIRAS 1,500 1,500 0
=0l & 1,500 1,500 0
OAZDE, MOIUS BAX 24
10,0002 *458 %23 900
ONBET A S BAX 24
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Rle SaHARE!(F21E 010 &) 60,000 40,000 20,000
201 LBt 15,000 10,000 5,000
01 AtR2teltl 15,000 10,000 5,000
=0l 15,000 10,000 5,000
OJlE SHl, 44 2aAE DA 29 15,000
—D20Y 29 A +¢
200,0002! *253] 5,000
—Z20y 29 SEIY 500,000 *203] 10,000
401 ANEHLLHY 45,000 30,000 15,000
01 Al&tHI 45,000 30,000 15,000
=0l A 45,000 30,000 15,000
Ozzo #= 23axe A 20,000
—CHEE 22 2,000,000 53] 10,000
S HEa 2,500,000 43l 10,000
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2N BT
HE: SO SYIUDH(SYHLSL/5Y - 5E)
Sl SeIIBES U WY (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES 25 of) (3] o) BlRE2
[= =] [= ]
SX=BITE SR 540,000 516,000 24,000
SUIIMEN S AR SRR (FUEHO0L) 540,000 516,000 24,000
401 ANSHIL2Y 540,000 516,000 24,000
01 Al&Hl 540,000 515,400 24,600
=0 & 540,000 515,400 24,600
OBSOES 52 THTA 100,000 200 20,000
OO0lS0tE 2 HTZTA 100,000 250 25,000
OUE0IS 52 FTZTA 150,0002! +100m 15,000
OFM0IS 52 FTZTA 100,008 *150m 15,000
OZ&0IS Bi42 HHIZ A 1000002 *200m 20,000
OZOIOIS W22 Al 100,002 *200m 20,000
OZOIDIS NBR SXZA
20,000, 00021 * 174 4 20,000
OAE0IS BI+2 FHIZ A 1000002 *200m 20,000
OS30I2 52 FZTAF 100,000 200 20,000
OSZ(ZRA) =2 FUIZA
100,000#200 20,000
OB SIS 52 THZA
100, 0002 %200m 20,000
02T PEOS 52 LTIDN
100, 0002 *200m 20,000
OBZY W 52 THTA
100, 0002 *200m 20,000
ZS0I2 BH42 FUIZ A 100,000 250 25,000
OREOIS Bi+2 HHIZ A 1000008 *250m 25,000
OZenis 8H4+2 JUIZAM
100, 0002 %200m 20,000
OZeois ME@ SXZA 1000002 *200m 20,000
ONOISOIE B2 SXIZA
100, 0002 *250m 25,000
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10,0002 *100m 10,000
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100, 0002 *150m 15,000
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o122 gyl 21,003 22,528 A1,435
olei 2| 21,003 22,528 A1,435
101 o2yl 21,003 22,528 A1,435
01 =4 21,093 22,528 A1,435
=0 21,003 22,528 A1,435
OAADD24E 10,2998 8L *17Al 24122 16,808
OANASAD R4S (A EHI4)
10,2009 22 #4A| 2H+522 4,285
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o2 H 67,900 70,600 A2,700
201 sty 33,400 33,400 0
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= 0fl & 13,000 13,000 0
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